(340) senbujod sep ednoio

$661 ©1q0J00 0F SOOUBUY SOP BIRSIUN ‘sI8jouBUY 10 SBNbILIOU0IY SBOULIPIP) BP XNEBIqE] (89IN0S NNy

DM OIpU|— ZD\eSBqIUIN\EZI\:D 3000 ‘senbjwouoa3 sinejeslpu| :021n0g
6L L'e2l'pl c'l 8’ A cl cc €661
8'8 9'0S6'EL Sl S’ EFl 80— 60 2661
8'6 S'18S'VI c0 9'S €0l . (il L= 166}
8’0} 9'290'S} 80— 8’ I'8 20 vo 0661
6'6 9'SE6'v S0 0'S S i 0e ve 6861
2ol 6'10t'vl L'l (0 4 82 ct VA 4 8861}
6'6 G'L9S'PvL el €Y 8'8 6¢c L'y .86}
S'6 0'LEL'PL S0 cv S6 8¢ £€ 9861
L £'S6LEL I'e (00 4 S0k 9'c LY G861
gclt = Si- ‘2ol Vs 0o'e Sl 0861
gcl i = et 9'S o't 9'c 0461

VAVYNVO NA SINDINONOD3 SHNIALVOIANI

0L p/u c'l 9¢ 0L p/u S0 €661
S8 L'220'v) vl 6¢C 0L 90 0 266}
L'6 6°L06'C} 80 cv v'9 v'o— vl 1661
8'6 1'668'EL A 0'S 9'S 80 9¢C 066}
L8 8500 gl vy 9'S 0¢ Ve 6861
'8 2'9.9¢tl ve ce 09 l'e ¢S 8861
v'8 o'veS'LI vl L2 9’9 cc 6'€E 1861}
V'8 L2e2 L) c'l 6 0L 6t I'e 9861
2ol L'v26'01 6' 8¢t A L'} (008 4 G861
6L 6°'129'01 v'0 6L g'S 90 o'l 0861}
ocl = = 9'S ct 80 I'e 046}
SoWw g>) ewie} Buo {cs6l op SN $) {e1=101 ewiou053) UONBWWOSU0D eBewoyd ojdwa | op 1921 gid np
suekow }919juLp Xne| jueq ey suAgonpoud e ep esipui,| op ep xne| CEYTL ST T @suessiol)
1ed gid op esuessiol) @auessiol)

Z—9 NA SAVd S3d SINDINONODI SHNALVOIIANI

| nespqe]



